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401 Al HIZ S 0HbI 30,000 30,000 0
= 21,000
< 3,600
Al 5,400
01 Al&H| 30,000 30,000 0
Oz Dtzotd FHIAFE (0l =)
30,000,000& 30,000




M 2s0l=1
HY: BAYS SBACAl
ol 2 25 € E4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 21,000
=S 3,600
Al 5,400
Y SEA SHUR = 4T MEIZA & 2 100,000 0 100,000
or 29
= 70,000
s 12,000
Al 18,000
401 AIEHIZ SR OHYI 100,000 0 100,000
= 70,000
= 12,000
Al 18,000
01 A28l 99,100 0 99,100
OBY SEA SHUS = MS82 AHZE
Y 2elget 89 ,100,000& 99,100
= 69,370
= 11,892
Al 17,838
03 A2 = THHI 900 0 900
OAIZ 20HHI 900,000& 900
= 630
= 108
Al 162
ZY SEA SR = dAIZ2IAE 20,000 0 20,000
= 14,000
= 2,400
Al 3,600
401 AIZHIX S0HH 20,000 0 20,000
= 14,000
= 2,400
Al 3,600
01 Al&H| 20,000 0 20,000
OZe SEA SHUR = dAI2CIAE
20,000,000 20,000
= 14,000
= 2,400
Al 3,600
Y SEA SHUR = B A 100,000 100,000 0
= 70,000
= 12,000
Al 18,000
401 Al HIZL 01| 100,000 100,000 0
= 70,000
[ 12,000




2A:
PSER
o e

=aak

o 1y foi

(0 O HO

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

18,000

=
=
nx
==

®
08
00
o
o
=
O
JZ
°C
i
by
T
1
dall
by

03 AlZ = THHI
OAIEZ =20

8

,100,000&

900,000

Mo

=

Mo

=

99,100

99,100
69,370
11,892
17,838
900
900
630
108
162

99,100

900

et SEAX EHIAHY

hoH

=

35,000
24,500
4,200
6,300

35,000

401 AIEHIY 20

o

=

35,000
24,500
4,200
6,300

35,000

01 Al&H|
O SEAK ZHIA(0=E)

35,000,000

o

=

35,000

35,000
24,500
4,200
6,300

34,630

370

hoH

=

50,000
35,000
6,000
9,000

100,000

250,000

401 AIZHIY 20

hoH

50,000
35,000
6,000
9,000

100,000

250,000

=
=
nx
=S

O
08
00
o
N
o
=)

gl
O
iy
i
i
ﬂ
f
=

Q

=

03 Al£ = THHI
OAI4 20HbI

49,460,000

540,000

Mo

=

Mo

49,460

49,460
34,622
5,935
8,903
540
540
378

99,100

900

A49,640

A\360




M 2s0l=1
HY: BAYS SBACAl
ol 2 25 € E4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 97
LSS0 OIZUSR HAIZEIAIY 20,000 20,000 0
= 14,000
= 2,400
Al 3,600
401 AIEHIX R0 20,000 20,000 0
= 14,000
= 2,400
Al 3,600
01 Al&H| 20,000 20,000 0
OBAS4S 01BUS MAIZ2IAY
20,000,000 20,000
= 14,000
= 2,400
Al 3,600
257 7uU B& JdE= 15 UMY 22,000 0 22,000
= 11,000
= 4,400
Al 6,600
401 Al HIZL 201 22,000 0 22,000
= 11,000
& 4,400
Al 6,600
01 Al&HI 22,000 0 22,000
Oss=F 71 2& 4= s dHIMY
22,000,000 22,000
= 11,000
< 4,400
Al 6,600
HEAME A HHETHAIAR A=A 282,000 156,000 126,000
= 141,000
Al 141,000
402 2I2F X201 & 282,000 156,000 126,000
= 141,000
Al 141,000
02 QI XHZ AL E R (01X THE) 282,000 156,000 126,000
OTSAHE dS AL M2 THAIAE ASAISE
282,000,000 282,000
= 141,000
Al 141,000
SAHE 2ZAL SHAIAE S22 A 7,200 12,000 24,800
= 3,600
Al 3,600
402 QIF X201 & 7,200 12,000 24,800




M 2s0l=1
HY: BAYS SBACAl
ol 2 25 € E4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 3,600
Al 3,600
02 QI X2 AL EE(0IETHE) 7,200 12,000 24,800
OFEAZ SBA UHAIAE SXZ2IAL
7,200,000& 7,200
= 3,600
Al 3,600
HSAE B2 AL HTHAIAE SXZ2ALY 5,600 0 5,600
= 2,800
Al 2,800
402 2I2E X201 & 5,600 0 5,600
= 2,800
Al 2,800
02 QIZHXHEZ AL E (01X THE) 5,600 0 5,600
OB SAtE B2AL ALY S22 AMS
5,600,000& 5,600
= 2,800
Al 2,800
ZASE2 O HUSR =8 22OHLAIL (HEALY) 500,000 500,000 0
== 250,000
Al 250,000
401 AIEHIZ SR HYI 500,000 500,000 0
[ 250,000
Al 250,000
01 Al&HI 486,400 486,400 0
OZAS+2 OIBLS T8 2tZHLAR(
SEFAY AFHFY )
486,400,000 486,400
= 243,200
Al 243,200
02 Zcltl 10,000 10,000 0
Ol 10,000,000 10,000
=S 5,000
Al 5,000
03 A& CHYI 3,600 3,600 0
OAIZ20HbI 3,600,000 3,600
& 1,800
Al 1,800
AKX FH FUHE L FAHS2 DAL (HEA) 200,000 400,000 £200,000
401 AlZHIZ 2018 200,000 400,000 200,000
01 AlZH| 200,000 398,000 198,000
OZAIAMA =8 =X & FHSL TEAM
S (HEALY) 200,000,000& 200,000
SEA XS24 Btat =8 FH| 646,600 604,000 42,600




M 2s0l=1
HY: BAYS SBACAl
ol 2 25 € E4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 258,640
Al 387,960
401 Al HIZL 01| 646,600 604,000 42,600
= 258,640
Al 387,960
01 Al&H| 622,000 604,000 18,000
OSEA AXXEE4 Bty =8 dHA
HHIZ2==AtS 622,000,000 622,000
=S 248,800
Al 373,200
02 2/l 20,000 0 20,000
Ozl 20,000,000 20,000
< 8,000
Al 12,000
03 Al 2 0HHI 4,600 0 4,600
OAI4 2THYI 4,600,000& 4,600
= 1,840
Al 2,760
WS A STOMDIEINOITA =8 S24d U QA 430,000 0 430,000
SHESAH
[ 172,000
Al 258,000
401 Al HIZL 201 430,000 0 430,000
= 172,000
Al 258,000
01 Al&H| 419,000 0 419,000
OWMSAL SXOIOIEIOINTHA X8t 222
= QA SHESA 419,000,000 419,000
= 167,600
Al 251,400
02 2/l 8,000 0 8,000
Ozl 8,000,000 8,000
[ 3,200
Al 4,800
03 Al 2 CHHI 3,000 0 3,000
OAIE20HbI 3,000,000 3,000
= 1,200
Al 1,800
Ty HEo| 4EME =Y SEA 82T 2 MY 297,000 0 297,000
S SAH
< 118,800
Al 178,200
401 Al HIZL S 0HYI 297,000 0 297,000
S 118,800




M 2s0l=1
HY: BAYS SBACAl
ol 2 25 € E4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 178,200
01 AlZ2H| 289,000 0 289,000
OZ dacl 448 = EYA 38
o AAE A SA 289,000,000 289,000
== 115,600
Al 173,400
02 Zeltl 6,000 0 6,000
OZeltl 6,000,000& 6,000
= 2,400
Al 3,600
03 AIZ S THYI 2,000 0 2,000
OAlIE =2 0Hbl 2,000,000 2,000
=S 800
Al 1,200
2 FME SOt U2AM BEHMCIAE 50,000 0 50,000
< 20,000
Al 30,000
401 Al HIZL 2048 50,000 0 50,000
= 20,000
Al 30,000
01 Al&H| 50,000 0 50,000
Oz zl4ts I DN BEXMIAIY
50,000,000 50,000
=S 20,000
Al 30,000
Y A= W2+ At 30,000 150,000 120,000
< 12,000
Al 18,000
401 Al HIZL 01| 30,000 150,000 120,000
= 12,000
Al 18,000
01 Al&H| 30,000 150,000 120,000
OZgefun A= HE+Ar
30,000,000 30,000
S 12,000
Al 18,000
Y Sstd E72 &M & SHHEEX 30,000 0 30,000
[ 12,000
Al 18,000
401 Al HIZL 201 30,000 0 30,000
= 12,000
Al 18,000
01 Al&H| 30,000 0 30,000




2A:
PSR
ool

S5101E Dt
EAE RSN P
S5 25 2 Fl

SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
OZg S8dtd B2t I=HA & 2t
HEX 30,000,000& 30,000
= 12,000
Al 18,000
Cter S&IRE AR F=HEHISA 25,000 25,000
== 10,000
Al 15,000
401 AIEHIZ SR 0HYI 25,000 25,000
[ 10,000
Al 15,000
01 Al&HI 25,000 25,000
OCHY S&IXE AR =HEHISA
25,000,000 25,000
= 10,000
Al 15,000
Y dEc| 4548 FH S| 25,000 25,000
s 10,000
Al 15,000
401 AIEHIZ SR HYI 25,000 25,000
[ 10,000
Al 15,000
01 Al&HI 25,000 25,000
Oz HEe 4EME =¥ FY)
25,000,000 25,000
= 10,000
Al 15,000
ZE B 28 BEXL 10,000 10,000
=S 4,000
Al 6,000
401 AIEHIZ SR THYI 10,000 10,000
< 4,000
Al 6,000
01 A&l 10,000 10,000
Ozl4tE S0t 28 2&X e
10,000,000& 10,000
= 4,000
Al 6.000
ANE ZAE 201 2 JUIAY 130,000 130,000
401 AlEHIZ S 0HbI 130,000 130,000
01 AlZHI 130,000 130,000
OAIE 2AH EH & ZHIAY
130,000,000 130,000
HOAA £E2 FH| & F=XE d AL 403,000 403,000
401 AlEHIYL 201 403,000 403,000




M 2s0l=1
M Z2AQ/= 2HCAl 1E
el =29t 25 & JHl (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 400,000 0 400,000
OMOA €2 | % FIT THAIY
400,000,000& 400,000
03 Al 2 THHI 3,000 0 3,000
OAl4 S THYI 3,000,000 3,000
OiE & Al =XHE =4 Atg 170,000 170,000
401 AIEHIZ SR 0HYI 170,000 170,000
01 Al&HI 170,000 170,000
Olfd &8 It =Xt g A
170,000,000 170,000
HE22tH 2EFE 2elAtd 30,000 30,000
401 A&l L= ChY| 30,000 30,000
01 A&l 30,000 30,000
OBY 2Y HXHLALXT U SH22
A 30,000,000 30,000
Ze|s0 1004 J1g2 AlEoid 200,000 200,000
402 2I2F X201 & 200,000 200,000
02 QI XHEAISE R (01X THE) 200,000 200,000
OTAIAE EXH & M= £X
200,000,000 200,000
StRot 2& 814,340 705,035 109,305
= 114,400
< 24,800
Al 675,140
23t 2tel 111,340 105,235 6,105
201 Ler23 | 28,540 31,040 A2,500
01 At2t2ltl 20,540 23,040 22,500
OS2 22 =3 32|
8,000&x4Fx10& 123 3,840
OYERRH A 7= 42 MH
500,000 22| 1,000
OE=23M 2HEEZI 2/A=8 I
70,0002 %302] 24 4,200
OgERars 2 ALY
100,000 5 500
ORE=2a =28 2aas 7Y
2,500,000& %15 2,500
O=3tM 2SAE 8L cIEH MA
2,000,000 x25 4,000
OZsHM &IItEAEA
150,000 1004 A+23] 3,000
OXE23t HES FHIMY HES
300,000 %53 1,500
02 s3=gHl 8,000 8,000 0
OXE « SEZSRY 832
8.,000,000& 8,000




M 2s0l=1
M Z2Q/= 25T Al 1E
el BstRdt 2& (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 4,800 5,695 A89%5
01 2LHoIH 4,800 5,6% A8
O=2=t) g2 =8 20,0002 x4 & *42| 320
OZ2H ALY =k &2 SYFX &
80,0002 x4 +83] 2,560
OBEA 28 TR 48 22 S (SHAHY
HE23 820t oA =8 &)
60,0003 x4 & +83] 1,920
401 Al HIZL 201 78,000 68,000 10,000
01 Al&tt] 78,000 68,000 10,000
OSBERER4 QHYT X
2,000,000 *57H 2~ 10,000
Ot &9 ~= 1,000,000 22 2,000
O2stM ~2gAIE 84 & B
300,000 *5 04 2x23] 3,000
OXNEEstrat & FHAEE RAES
1,000,000 * 140K 2~ 14,000
OgERarat & FHAEE RAES
1,000,000 * 109K 2 10,000
OXlE & SERalra 218 E4AE
2,000,000& 2,000
O3 579 HY Sg++2
2,000,000 %13 2,000
OME23H XIZEZA 5,000,000& 5,000
OYOIAL &CI AT & FEEH|
30,000,000& 30,000
MY ZoRL BEAY 50,000 125,000 AT75,000
= 20,000
=S 6,000
Al 24,000
307 21201 & 50,000 125,000 AT75,000
= 20,000
= 6,000
Al 24,000
02 2B YAIHE A 50,000 125,000 AT75,000
Q&S ALOIO LI S
50,000,000 50,000
= 20,000
= 6,000
Al 24,000
SN SotRe SSAY 40,000 0 40,000
= 16,000
= 4,800
Al 19,200
307 el2to| & 40,000 0 40,000




M 2s0l=1
ZH: BAYS SHTAl P
&Pl Ealza E& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 16,000
=S 4,800
Al 19,200
02 QI AHANEER 40,000 0 40,000
OAl - 22t2l Jl9f, Zorstm
40,000,000 40,000
= 16,000
= 4,800
Al 19,200
Olch SR = S4 At 50,000 0 50,000
= 25,000
Al 25,000
201 el 50,000 0 50,000
= 25,000
Al 25,000
01 At2teltl 20,000 0 20,000
OUlIcHFE2ot7 4 AlR2t2IH]
20,000,000 20,000
= 10,000
Al 10,000
03 A2 I 30,000 0 30,000
OllcHRE2et74t HAI2SH]
30,000,000 30,000
= 15,000
Al 15,000
T REEIN EsXE 24,000 20,400 3,600
= 12,000
Al 12,000
307 gl2to| & 24,000 20,400 3,600
=S 12,000
Al 12,000
02 QB AANEER 24,000 20,400 3,600
ORI SIS (SAE) 12,000
- 500,000& x2E12& 12,000
S 6,000
Al 6,000
ORE23 dsNdS(E JAHEOl
el) 1,000,0002 x1&* 12 12,000
=S 6,000
Al 6,000
T FEE3M SIHAL 4,000 3,900 100
< 2,000
Al 2,000
307 lztol & 4,000 3,900 100




M 2s0l=1
ZH: BAYS SHTAl P
&Pl Ealza E& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 2,000
Al 2,000
02 QIZIB AN R E 4,000 3,900 100
OSESBM 2WHAHZE HOIFO| A2)
4,000,000& 4,000
= 2,000
Al 2,000
dusd 248 A ALY 72,500 65,000 7,500
= 29,000
Al 43,500
307 212+01& 72,500 65,000 7,500
= 29,000
Al 43,500
02 LB HAHE L 72,500 65,000 7,500
OOI=Z M2 2&Met 25 £0=2
32,500,000& 32,500
= 13,000
Al 19,500
OZd=z A& T2 2dst Al
40,000,000 40,000
= 16,000
Al 24,000
d=1S2 230w AH X 61,000 64,000 23,000
= 24,400
Al 36,600
101 @124H| 61,000 64,000 23,000
= 24,400
Al 36,600
04 JIZtN22 XS 2+ 61,000 64,000 23,000
Odsnu=s 2R SA XA (S
. 2A1) 61,000
—2s0 2,060,740 «2E 12 49,458
= 19,783
Al 29,675
—4HEE= 5,826,000& 5,8%
= 2,330
Al 3,4%
—SEFOHI 550,000 x2H =23 2,200
= 880
Al 1,320
—JIEHEAZS AL, Sel=dH], = )
3,516,000 3,516
= 1,407
Al 2,109
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M 2s0l=1
BR: BAUS 2T P
Rl Setea 2E (St &)
SA - B - SRUBH) - MRAR - BAS A HIDEZ
201 Let=dh] 45,000 45,000
03 Ar=EHI 45,000 45,000
OBARF S5 FIT2 30| BAS 25
45,000,000& 45,000
401 AIEHIX 20HH 20,000 20,000
01 A28l 20,000 20,000
O2EAE= €1 20,000,000& 20,000
N2Ustl 525 2A EE 70,000 70,000
401 A2 HIZL 201 70,000 70,000
01 Al&HI 70,000 70,000
OHIAE EX & MESs2t &4
70,000,000 70,000
& 28 ) 22 10,000 10,000
201 et23| 10,000 10,000
01 At22te|Hl 10,000 10,000
Ozxdel OHXI9 &8l, i &&= et
10,000,000 10,000
Stz 243t 938,269 467,323 470,946
JEEA 151,240 154,533 A3,293
201 er=3| 144,200 144,200 0
01 At22t2lt] 12,600 12,600 0
O=20ala =N S|
8,000x4Ex102/«12& 3,840
O34 Fd 4258 2¢ 110,000+ 12& 1,320
OYLBIBAL 28 ADF D
100,000% 122 1,200
Ollot: =ZH] 150,000%4CH*22] 1,200
OYURA LA ADE 2
200,000« 123 2,400
O dd HIHAIAE 2]
220,000« 123 2,640
03 A= 131,600 131,600 0
O=0igl2 J8=sH 120,000,000 120,000
OJ8s% g2= M& 11,600
—Z022 oY =2 150,000+82 1,200
—=u =Y 250,000%20H 2-+82 4,000
—S%Y 2 110,000+82 880
—HEZE Y 150,000+82 1,200
—HiU 40,000+82 320
—&EX 250,000%82 2,000
—clE2Y 1,000,000%22] 2,000
202 048l 6,000 9,293 A3,293
01 SLHo4HI 6,000 9,293 23,293




M 2s0l=1
ZH: BAYS SHTAl P
tel: 2stilsg2 243t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OJIEs% & Al =8 S
100,000%42 * 122 4,800
OJIEEY U FA XT(Z2E)
100,000 x1&* 122 1,200
301 22N = 1,040 1,040
11 AALREIXIES 1,040 1,040
O3¢ =Xt & 2t =201 &H|
8,000%10&%132] 1,040
JIZHEA 12,530 12,600 AT0
201 Ler23| 12,530 12,600 AT0
01 At2teltl 700 770 AT0
O&Al =8 425 28 100, 000%7=] 700
03 &A= I 11,830 11,830 0
O20=l2 JI=EAl 11,830
—=2022 2% S0 HE
150,000%72] 1,050
—HHL R 40,000+72] 280
=5 M 1,500,000%72] 10,500
022 BN 13,442 13,879 N437
201 fer= 3| 12,937 13,374 N437
01 At 2|l 12,937 13,374 VAV/XT4
O&=)| gitz 30,000+4CH* 122 1,440
OHlbl &xt=z 40,000+8CH* 123 3,840
Oxtad 2 &l 2
42,000%30 A 1,260
O=taa siZEtE 7Y 55,000%202f A 1,100
Ostyd 2detd #& 13,000 191 %22 494
OMgISE(50L) 7 1,300+50& * 122 780
OAlgze| A28 +#Y 98,000x 122 1,176
O=tizXIl & 228 Wi
50,000+67H 300
OstZdHlE stz 78 124,500%42] 498
OAIZ= 2t AtRlE MI% 90,000+5H 450
OXN==x =2ZAl =8 119,000%12] 19
O20al& Xt HIIEH] EIIZA HE
Saaat= 900,000%12] 900
OdSI| ABHA =2 160,000%12] 160
O=gel A ==& 120,000%12] 120
OAgtM e At HEUT =8
200,000%12] 200
OEdd 83 uUSs =8 100,000%12 100
206 =4I 505 505
01 M= HI 505 505




A 230=Dt
M Z2AQ/= 2HCAl 7E
tel: 2stilsg2 243t (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
O=de] 2RE(H2H, ¢ 43) 2
364,000% 14 364
Ood2= Meld =& 47,000x38 141
JIHEH KXl 44,100 43,100 1,000
206 =4l 4,600 4,600 0
01 M=l 4,600 4,600 0
OJARE(FelA 2 93) ¢
100,000%105 1,000
O=R4&0t013 AXXI(AA 2 45) #¢
100,000%5& 500
O&INEE (XD 2 95) #¢
160,000x 105 1,600
OXg o ¢ 30,000%5004 1,500
401 A& HIZL20HHI 39,500 29,500 10,000
01 Al&HI 39,500 29,500 10,000
OJIH4 Bl & A= A2
500,000*4CH 2,000
OJIAHA 2H ¥ 018 X 2%
1,000,000+3CH 3,000
OFIA LX) BAl B
1,000,000%23| 2,000
OJIHA BE X B+ 3,000,000% 14! 3,000
PO ZYHEH |X 2=
3,000,000% 14! 3,000
O JIHEH 7K =
3,000,000% 14 3,000
O3¢E =3&dl |X E=
400,000+5CH 2,000
O34 TZNH 2K B4
1,700,000 14 1,700
OCCTV Jtolet =Xl 2= 1,000,000% 14 1,000
S |X 2= 1,500,000%23| 3,000
Ol - AZBAE ZHl "X E=
500,000*43] 2,000
O FX B 1,800,000 14! 1,800
OUs¢E s A B+
1,000,000%23| 2,000
OJH4 Bl d2ta &3 WXl
10,000,000% 14! 10,000
FAIE KXzl 707,817 230,071 477,746
201 Lt | 89,067 84,221 4,846
01 AtR2telt] 24,563 20,480 4,083
O=20lz2 fo1A3HIEH
130,000%2JH A+ 12 3,120
O20|3|2 AgotMap |2
200,000« 12& 2,400




M 2s0l=1
ZH: BAYS SHTAl P
tel: 2stilsg2 243t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O20g/2 MIjetM 2|89
870,210-12& 10,443
O20a& ASAHHEHEH
2,500,000+22] 5,000
O=20al2 datx HAa 600,000% 14 600
Ol - 25T 24 2 I NS
3,000,000+ 14 3,000
02 S3=gHl 64,504 63,741 763
Ogt=2s0=a2Ag3 galt
5,000,000+12] 5,000
Osigsetd2telxt g2l
40,000%12] 40
OAgota el X &2/l 50,000%13] 50
OZ20zl2 aotr=E2s 180,000% 123 2,160
O=20aa dllks 3,800,000+ 12 45,600
O=gef A= 1,381+60 £ x3AI 2Hx35L 8,701
OQIgY! 3ld AlE= 30,000% 122 360
ORugss 7,700x12& 93
O=20aa &9 A= 500,000+53] 2,500
307 @I2to| & 46,500 45,000 1,500
05 glt?(& = 46,500 45,000 1,500
O20z2 ¥AEH 46,500,000+ 14! 46,500
401 Al HIZL S 0HYI 572,250 100,850 471,400
01 Al&HI 571,800 100,400 471,400
O=0al2t =X i
9,000+ 100& 22 1,800
Ol A5H0Y sat Y= SA
20,000,000% 14! 20,000
O20zl2t AZSHE & " I WHSAH
50,000,000%14] 50,000
O=20aa U " A3HE Sl UHSA
500,000,000%14] 500,000
03 AIZ2THYI 450 450 0
OAIE20HbI 450,000 450
OFls Ay 2e 9,140 13,140 24,000
201 fer= 3| 2,640 2,640 0
02 s3=gHl 2,640 2,640 0
O0fS8HY dot== =
20,000% 122 240
O0fs8dd &IIRes 200,000x 123 2,400
401 Al HIZ S 0HbI 6,500 10,500 24,000
01 Al&H| 6,500 10,500 24,000
O0t2sy &l =Xl 2=
2,000,000+ 14 2,000




A 2ol
M ZAU=E 2IEA S
Chel: 23t0i=sl2 A5t CEEREE
- - dEE
SA - BE - SRI(BH) - MRAR - BAS ol &r aes HIDS2

O3 E 2t &Y

1,500,000+32]

4,500




